DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO
F Y1 B T AT T T @il 74 T FET A AT

| |
Paa'l 1 4o S TEST CODE : 3/2016  Booklet Sr. No. MASTER
| Category No. : 01

Candidate's Roll Number / srs=ff 1 01 st7aw
MORNING SESSION

Time allowed : 1 Hour 15 Minutes Total Questions : 80 Maximum Marks : 160
e wag : 1 e st 15 e T W : 80 HHaA HF : 160

KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
IMPORTANT INSTRUCTIONS FOR THE CANDIDATES

1. Attempt all the questions. Every question has equal marks viz. 2.

2. Before attempting the question paper kindly check that this booklet has total 14 pages & OMR Answer sheet consists of three copies. At the start of
the examination and within first five minutes, candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly
printed and test booklet is not damaged in any manner. Serial No. of OMR Sheet and Test Booklet match with each other. In case of any
discrepancy the candidate should immediately report the matter to the invigilator for replacement of test booklet & OMR/Answer Sheet. No claim in
this regard will be entertained after five minutes of start of examination.

3. Do not forget to write your roll number on the top of this question booklet & OMR/Answer Sheet.

4. Do not tear or fold any page of the question booklet and OMR/Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent coloured photo pasted on it at mark B duly attested by Gazetted Officer and one

identity proof with photo like Driving License, Voter Card, Aadhar Card, Passport etc. at the Examination Centre failing which candidate will not be
allowed to enter in the Examination Centre.

6. Candidates are advised to make sure to fill the correct name, Roll No. & test booklet code on the OMR Answer Sheet. If the space for the Booklet
Code is left blank or more than one booklet code is indicated therein and non filling of name and roll no. as per instruction, it will be deemed to be
an incorrect booklet code & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing the test booklet code. Candidate shall put his/her LTI (Male) and RTI (Female) on attendance sheet,
on the OMR/Answer Sheet and on the Biometric Machine along with signature.

7. Candidate should put his/her signature and thumb impression on the Admit Card at two places in the presence of Invigilator in the Examination Hall.

8. Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White Fluid/Whitener etc, to
smudge scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. Candidature/OMR Sheet of candidates
using Eraser, Blade, Nail or White Fluids/Whitener to smudge, scratch or damage in any manner the Answer Sheet shall be cancelled.

9. Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc., electronic
or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found possessing any
such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any other aiding material as
mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the candidature and debarring
him/her from future examination. Use of Eraser, nail, blade, white fluid/whitener etc., smudging, scratching or damaging in any manner the OMR
answer sheet shall lead to cancellation of candidature and such OMR answer sheet shall not be evaluated.

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric
Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and Jammers
etc: shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc.

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the examination
by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the candidate shall not be
allowed to sit in the examination and be liable for criminal prosecution.

13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace them.
Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the three copies
to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are allowed to take
away this Test Booklet with them.

14. Each question has four alternative answer of which only one is correct. For each question, darken only one circle, which ever you think is the correct
answer on the OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening the circle.
If more than one circle is found darkened, that answer will not be evaluated.

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination.

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her
signature and mentioning "Cancelled” on it.

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid.

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted.

19. While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle, your
answer will be treated as wrong and such answer shall not be evaluated.

[cORRECT METHOD + 58 771 WRONG METHODS / T =3

®000 PEFOC GEOG OO GO

20. If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline, the Commission shall take action as per
instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal

proceedings. R &F e sifaer PACALY Lzl

Paae - 1915




MORNING SEssioN

1. Suhas travelled 15 km towards East, then

turned towards North & travelled 15 km and
turned towards West and travelled 15 km.
How far is he from the starting point ?

T d [ A 3R 15 el a4,
R 3eR &1 3R g 15 fedr amr
# AR BT aRes & 3R g 15
&l o= & | a7 wREe o @
fraelr T & 2

(A) 15 km /15 Rref
(B) 30 km /30 faY
(©) 45 km /45 RRsiy
D) 0 km /0 fralY

. By whom reconstruction of Sthaneshwar
temple of Kurukshetra was done ?

FET & TURRR Alegx & AT
fAerfaf@d & @ s qarr samr mar
?
(A) Maratha Sadashiva Rao
ST WeIfla 19
(B) Chandragupta Vikramaditya
(©) King Harshavardhan
ST g¥ageT
(D) Prabhakarvardhan

THTRIAE

. If @ man’s rate with the current is 12 km/hr
and the rate of the current is 1.5 km/hr, then
man's rate against the current is

Ife e afFd fr avT F @iy afy 12
fRAT / guer & 3T arr & afay 1.5 fpet /
HUST &, o ORT & % afda & afy &

(A) 9 km/hr /9 T3t / goeT
(B) 6.75 kmv/hr /6.75 fHHY / Toer

(C) 5.25 km/hr /5.25 faft / goeT
(D) 7.5 kmvhr /7.5 ey / goeT

. The Bapoli falls under which district of

Haryana ?

T EREOT F e Y & s
e g ?

(A) Ambala / 37FaTeT

(B) panipat / grefiga

©) Karnal / ShdaATel

(D) Jind / S

- Select the substitution that best expresses

opposite meaning of the underlined word.
The officer had issued explicit instructions to
his staff.

(A) inadequate
(B) elusive
(C) ambiguous
(D) queer

6. What causes common cold ?

ATIROT HEJ-FehH & HROT FAT § ?
(A) Bacteria
AR (Shramop)
(B) Fungi
I (HITH)
(C) Virus
FaTy (arst)
(D) Protozoa
BIEEIC)

7. Which of the electrical instruments have to be

connected in the same manner for
measurement ?

ﬁm’rﬁa—crﬁﬁﬁmﬁag?rmﬁ
AN & o0 3 & & F37 g AR

?
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(A) Frequency meter and P.F. meter
ngfed AN g P.F. #ex

(B) Voltmeter and frequency meter
dreeardt 7 mgfea Ard

(C) Voltmeter and power factor meter

aﬁm@ra%ﬁrww

(D) Wattmeter and voltmeter

areHey g diecHiey

8. Large value resistances are expressed in kilo
ohm and mega ohm. How can 2800 ohm
resistor be expressed ?

g3 AR g 9o A frelr 3\ g Few
A # usg Far sar & | 2800 HH
T = Fa sgea 1T 51 gar § 2
(A) 28000

(B) 2kQ

(C) 2.8kQ

(D) 0.2800 kQ

9 The First Governor of the Haryana
was
RO & 9UH ToIUTT i FATT T ?

(A) Shri Devi Lal
A gdretTer

(B) Shri Bansi Lal
A SEreTer

(C) shri Dharmaveer
s el

(D) Shri Satya Pal
A g9

10. In which city of Haryana the famous ancient
temple of Mata Shitala is situated ?

A fider &1 9fdg Ul Afeey
g & fFg TR A § 2

(A) Narnaul / TGl

(B) Gurgaon / ?.I,E'JT\IJE'
(©) Rewari / Xars
(D) Hisar / fRar

11. Who is the writer of novel "Mati ka Mol" ?
"AIEY H A" IGCATH & oGh Pl &
?
(A) Madhukant
IR
(B) Jaynarayan Kaushik
SAARIT HifrE
(C) Mohan Chopra
AgeT ST
(D) Santosh Singh

ey g

12. Polarization in a primary cell can be removed
by
TR ¥ # yEvr F R gerr o
il § ?
(A) coating the electrodes of the cell

T & SFels FT oAU Flh

(B) chemical action
TIfAE T

(C) discharging the cell
T # R
(D) disposing the cell
el &7 e e

13. Which one of the following acts as
depolarizer in a dry cell ?

fAifhd & @ Fl9 W TF JFT A
fayas & §7 7 FF FIAT § 2
(A) Manganese dioxide
HAller sFaEs
(B) Zinc chloride

S Fellliss
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(C) Ammonium chloride

HATIH FoRise
(D) Carbon powder
e U3

14. Sweep of ceiling fan refers to

feler b7 & $hema (=) & FAT e
g7
(A) radius of circle formed by its rotation.
$HF HOIA { T A Jed H
Bear
(B) double the length of the blade.
SIS A S { GIT

(C) the distance from centre of motor to tip of
the blade.

AT & ALT F &l F A H gl

(D) double the distance from centre of motor
to tip of the blade.

AT & AT ¥ w5 F AF B g
® g
15. The resistance of the earth is
gedy & IRy fhcde & 2
(A) 1 MQ
(B) 20 MQ
(©) infinite / 31t

(D) about zero / FaT$TT e

16. Poems of the poet Pushpdant are related
with which sect ?

HT TSUeed Hr WA FE 9¥ @
T § ?

(A) Jain / =7

(B) Bauddha / sig

(©) Arya Samaj / 3 TATH

D) sufis / Y 9y

17. Agriculture based food park is situated in
which of the following ?

PN 3RS T3 T SRR § we
T § 2
(A) Narwana
oAdTleT
(B) saha
T
(C) Dabawali

SEICE]E

(D) All of these
54 Tl TUy= W

18. The gain of a CE amplifier is highest at
CE Jauier & offetl Fafoa sl gl & 2
(A) mid frequencies
A Jrgfeadt )
(B) low frequencies
fae=t smgfeaat w
(C) high frequencies
3T9 Jgfcaal )
(D) all frequencies

el g icadt W

19. gordt org orsg @it @R
(A) F=hrpor
(B) S fegraor
© F=draeaT
(D) &hfzgahtor

20. The mass of material deposited over an
electrode is

gaa—a's'waﬁqaﬁmawm{ﬂﬁ%

(A) proportional to voltage

aﬁma:mﬂtrrﬁa;

(B) proportional to time only

el TG & GHIIH
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(C) proportional to current only

HIST FNE & TARIIAE

(D) proportional to quantity of electricity and
E.C.E.
feqd @ ECE # = %
AT

2. 1 grenr AR =T & e ¥
HIS FT 97 AT GeoT TFATET ¥ ||
o1 T & NG H T AT L 2

22. Who was the main leader of Non—Co—
operation Movement in Haryana ?

HEGANT 3eelelel & TG AaT gRATOT
H Bl & 7
(A) Mahatma Gandhi
HEICAT ey
(B) Lala Lajpat Rai
CICIECIE RG]
(C) Raja Rammohan Roy
TS TAANGT TG
(D) Surajmal
qITHT

N

23. When the Pradhan Mantri Jan—-Dhan Yojana
campaign was launched by the Prime
Minister Narendra Modi ?

ST AN AU B @I e
Fr S Aoy ?
(A) 28 August, 2014 /28 3rTEd, 2014

(B) 15 August, 2014 /15 37TET, 2014

(©) 2 October, 2014 /2 ey, 2014

(D) 26 January, 2016 /26 STeTa, 2016

24. Oxide coated cathode s used in 31‘1?813‘5’
AT T & 3wer rae R smar
g7

(A) Low power tubes
T araw 2w

(B) Medium power tubes
HEIH G &9

(C) High power tubes
3T 9IS

(D) Medium and high power tubes
HYIH q 3= 91a¥ ??E'

25. Hammers are classified
gt : Fg 3R @ i fmam
Sar g 2

(A) as per their hole and weight.
3% O F R

(B) as per their frame's shape and weight.

39% BH FT ISR T HR

(C) as per their heel's shape and weight.
3+ E T IFR T AR

(D) as per their handle’s length.
3% g5l T SES
26 3o AfReT B FeT W Ry & 2
(A) e e, e

27. Afuse wire should have
TS dR H FI7 g AR ?
(A) low specific resistance and high melting
MASTER



point.
et RAflse gfky 3 3eg URGIC

(B) low specific resistance and low melting
point.

ﬁmﬁ@wmaﬁm
IToTeTTeh

(C) high specific resistance and high melting
point,

3%g fafdrse 9farler 3 3= aremiE

(D) high specific resistance and low melting
point.

F=v faflse gfayr 7 Pt sreetis

28. Eligible minimum age for the Governor is

TS & T YFast g Frezrar &
(A) 45 years /45 a§
(B) 35 years /35 a§
(©) 25 years /25 q§
D) 30 years /30 g§

29. Which of the following motors is suitable for
high starting torque ?

Peifea & & @l @ Aew yqeah
5 TA-HEYT & AT 3ugeRd ¥ 2
(A) Shunt motor
T Aiex
(B) Cumulative compound motor
T i Aex
(C) series motor
¥R Arex
(D) Compound motor

A Al

30. Which part becomes modified as the tusk of
elephant ?

el BT AT Tl & Isted & T & Teorar 2

?

(A) Canine / I&sTh

(B) Premolar /3ITdTR
(C) second incisor ECRY aﬁﬁ;
D) Molar JSE L ET

31. ¥ 800 amounts to ¥ 920 in 3 years at simple
interest. If the interest rate is increased by
3%, it would amount to how much ?

X 800 & TR 3 a¥ & WruRwr sue e
§R 92 g ol ¥ | AR e @ A
3% gha & S, @ FE AR e @
StTefy ?
(A)X 1056
B)T 1112
(€)% 1182
D)X 992

32. The metal from which the electrons are
emitted is called

dE U] FAT Fgorc § oY ol
Ieatata g & 2
(A) An emitter

3cqeh

(B) A cathode
FUs

(C) An emitter or a cathode
3cHo® AT FYI3

(D) None of these

S q S A

33. Which tool is used for removing a taper
shank drill from the socket ?

Aihe F & TR 9 e Moo & @
foe T T gEcTer AT ST ¥ 2

(A) spanner / BT

(B) sleeve / TohT

(©) Tang / &7

D) prift / %R
MASTER



34. The curve representing Ohm’s Law is

3T FraA F Geflid &t arer a7 #hy
arg e
(A) a parabola
Wdelq

(B) linear
s

(C) sine function
HigeT Bhelal

(D) a hyperbola

AFfauasT

3S5. Which of the following material is used for
making permanent magnets ?

e # ¥ B e @ syanr
TS 9% S & forw fram oimar & 2
(A) Carbon Steel
el FETeT

(B) Platinum Cobalt
CIfeAd FaTee
(C) ALNICO-V
(D) All of these
¥ welt

36. The simplest way of varying the flux
produced by an electromagnet smoothly in
an electrical device is by

frer fegd suaor #  Regd-des
AN 3cIeT Forerd F 3T A ol
T AIATH TR AT § 2

(A) increasing and decreasing the number of
turns of the coil.

Fed & W N gEIr F Seq T
Larars)
(B) using an exciting coil with number of
tappings.
#$ for & w3 Fisa &
39T

(C) varying the current through the exciting
coil.

3 Fed & @R awe #
ECEIE)

(D) varying the core position of the exciting
coil.

3cdfold @se A wR fRufy
Scelld

37. . ) .
The simple interest on a sum of money is =

of the principal and the number of years is
equal to the rate percent per annum. The
rate percent per annum is

frdT a3 X IR SOy HeT-e1eT

o o¥ A Al & wEr oo
ST & 9fAvd & & R & ar ofy
¥ S X gfaerd &7 & 2
(A)3
(B) 1
3
© ,1
3
D) 3
10

38. The semiconductor diodes can be used for

e IS HT IuAeT RRE faT
forar ST geRar & 2
(A) Half wave rectifiers
37 T ey
(B) Full wave rectifiers
T ey
(C) Half and full wave rectifiers
T qof ar R
(D) None of these
SIH @ HIS TG
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39. The transformer used for starting the high
induction motor is

3T WO Al A T F AU g
SHGRR H 392T fRar ST & 2
(A) auto transformer
HTEr-graTIT
(B) step—down transformer
FU-BB3A AR
(C) potential transformer
fasra et

(D) two winding transformer

al-hSelel ZIARIER

40. Choose the alternative which best expresses
the meaning of the given idiom/phrase.
To take a fancy to

(A) tofall in a trap
(B) to defy

(C) to start liking something or someone very
much

(D) invent by thinking

41. Ravi was always of the good fortune
of others. (Fill in the blank)

(A) miserable
(B) irritable
(C) greedy

(D) envious

42. When was the Indian National Congress
founded ?

ST T A B AT F S
oA ?

(A) In the year 1885 / a§ 1885 3

(B) In the year 1901 / 9§ 1901 3F

(©) In the year 1905 / 9§ 1905 &

D) In the year 1945 / 9 1945 &

43. The number of scheduled caste reserve

constituencies for Lok Sabha in Haryana is

gRAOT 7 o T F AT Feeiad
T & v fFaer &7 3RfEa ¥ 2

(a)2

(B)1

()3

(D) 4

44. Which city is famous for the manufacturing
of Scientific instruments ?

A 3TR0t & AT & v yite
IR FleT AT & ?

(A) Ambala / 3reaTeT
(B) Gurgaon / EIETIICH
(©) Panipat / ar=iraa

(D) Hisar / AR

45. Which river out of the following ends in
Arabian Sea ?

T 7 & =l & a8 3R g &
HATCT gidT g7

(A) Krishna / ST
(B) kaveri / w1y

©) Brahmaputra /a???g‘:r
(D) Narmada / sT3feT

46. Megger is an instrument meant for
measuring

AIX 3THOT  / FIT AT ST § 2
(A) very low resistance.
TE A FTRTE
(B) insulation resistance.
faegae 1 wfaiy
(C) inductance of a coil.

PISeT T 90T

(D) Q of a coil.
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RIS & Q

47. Chhudani Dham is related with the
POl T B HE e AeTgey & ¥
?
(A) Saint Garib Das
T TReere
(B) Saint Ravi Das
T ey
(C) saint Hari Das
ad gRerg
(D) Swami Nityanand

wH fAeTTeeg

48. Choose the alternative which best expresses
the meaning of the given idiom/phrase.
Official counting of the people in a country.

(A) collection
(B) gathering
(C) census
(D) crowd

49. TE I &5 TS Fh 9] I |
ST 36 3R Afaee R Few ||
$H 2le & o i § 2

(A) g

® etz
(© wdrery
(D) #irars

50. The donor type of impurity is

SIdl YR I 3T Pt & & 2
(A) Phosphorous
PIEPRE
(B) Aluminium
werfafasy

(C) Boron

IR
(D) Iron

eiigT

31. Ideally a constant voltage source should have

I ¥ F i deear A F 2
T ?
(A) Infinite resistance
3eld gieRIer
(B) Zero resistance
U= wfarer
(O) Infinite capacitance
3t eniar
(D) None of these

Tt ¥ P o

52. Power factor of an A.C. circuit is equal to
AC ®fhe &1 afFa Iue FaF SR
gl & ?

(A) cosine of angle between voltage and

current.
dIeeT T FE F T For A Fer
(B) tangent of angle between voltage and
current.

decT 9 e F & F@OT &y
T

(C) impedance/resistance.

gfasTeT/afaer
(D) apparent power/real power.

AT qray/IATe gray

53. Which one of the following is not a
maintenance free battery ?

A=frd & @ i @ 8 w@e
HFT AT & 7

(A) Ni-cd

(B) Ni—Fe

(C) Alkaline  Magnesium /
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HeRras
(D) Lead-acid / Hu-ofyE

M- mpw dw gERr A &
oGF Pl §2?

(A) ARG gRYTwg
B) Srreiet gare;
(©) e

D) fRaex

55. At which place Lord Krishna gave the Geeta
Upadesh to Arjuna ?

HIET FUT A MO N 39y Fg
T 9T 39l far 2
(A) Jyotisar (Kurukshetra)
SfaT (F9er)
(B) Kapisthal
EaErrc)
(C) Panipat
I
(D) Pandu Pindara
qIUg AR

56. Who was the last Hindu ruler of the Delhi
kingdom ?

feelr &7 a&y W Yo aren AW Reg
qHH et AT ?
(A) Harshvardhan

A Cro)

(B) Hemchandra
sHE

(C) Rao Tularam
ACEG CINE

(D) Mohan Singh

Ag g

10

57. Which committee has recently submitted
report on Insolvency and Bankruptcy Code
20157?

fFe #88 & ga & F Rafyas
(Freleddr Tog devad) @Rar 2015 ux
idaee Jeqd fFar § 2
(A) Shah Nawaz Committee
ATE TS FAE
(B) Ravi Prakash Tyagi Committee
S gerer canft w838

(C) Kalyan Banerjee Committee

FdT0T SIS FAET

(D) Bhupender Yadav Committee
e AT FAA

58. Choose the correct alternative from the given
ones that will complete the series.

QT a0 Reedt & ¥ a7 @ Rwey
AT S 3T R A |
5,21,69,213,645, _ ?

(A) 1670

(B) 1941

(C) 720

(D) 1320

59. In which type of d.c. machine—poles is
residual magnetism necessary ?

frg @t #T d.c. AAA-Yal # @RI
daehcd HTAeTH § ?
(A) Shunt generator
AT AT
(B) Motor
HleT

(C) Separately excited generator

3O & Scdford STeliex

(D) Permanent magnet type generator

TS g Tl FTele

2

odd word from the given
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alternatives.

R v femdt & & Rver o gfau |
(A)} Tomato
CHIET
(B) Potato
3Tel

[N

(C) carrot
ClIS LS
(D) Onion
TS

61. Choose the word that best expresses the
meaning of the underlined word :
I quite enjoyed the book but found the
ending rather tame.

(A) dull

(B) interesting
(C) impossible
(D) appropriate

62. Select the related letters from the given
alternatives.

few v fawedt F @ grefoug Rt @t
AT
BEHK : YVSP: : ADGJ : ?

(A) ZUTR

(B) ZVSP

(C) ZWTQ

(D) ZWXZ

63. Electronics is the branch of engineering
which deals with the flow of electrons
through

SAFEId, FNAANT & gg arEr ¥
i ¥ goeeA ¥ vaw @
qEfeT g |

(A) Semiconductors

AT

(B) Gas
g

11

(C) vacuum
fAata

(D) All of these
g Wt

64. The ratio of the ages of father and son at
present is 6 : 1. After 5 years the ratio will
become 7 : 2. The present age of the son is

T # R #R w @ ozm o
G 6 1 1§ | 99 a¥ T w®
AT 7 1 2 § W | 9T adA=
3 E

A)s years /5 9%
(B) 6 years /6 a§
(©) 9 years /9 a
(D) 10 years /10 7§

65. Which district of Haryana is largest, with
reference to population (Census—2011) ?

SHEar #r e & ghaor w1 gsw
T TIel et &1 § (SA0ET-2011) 2
(A) Panchkula

Tl

(B) Sirsa
faar
(C) Faridabad

LICAC I

(D) Gurgaon

LIELIE)

=

66. From the given alternatives select the word
which cannot be formed using the letters of
the given word.

fow gu fadedt & @ 38 g & ghaw
ST BT a0 ereg & HERT FT WA Fh

STel ST ST Tl |
HISTORICAL

(A) RICHES
MASTER



(B) CHARIOT
(C) CHART
(D) CHAOS

67. Khoriya is the entertainment programme of
which occasion ?

afsar fFe IR & Aes FFA
K
(A) At the event of son's marriage
TEF N A F IFET W
(B) On the occasion of Holi
gloll & I I
(C) At the Teej festival
AT & I W)

(D) On the elder's death
€AY T

68. In which district of Haryana there is no
Railway line ?
gRamom #r o S e W oA
Sl g ?
(A) Sirsa
faar
(B) Mewat
AT

(C) Kaithal
Ferer

(D) Mahendragarh

HeeGI1E

69. If 3 men or 5 women can reap a field in 43
days, how long will 5 men and 6 women take
toreapit?

Ife 3 qew yar 5 AfRO R @a
A 43 foT & Fes W TFT & O 5
o AR 6 Afgerd HH Ferg T F
ferdar war et ?

() 15 days /15 R

12

B) 20 days /20 f&=T
(€) 25 days /25 feo1
(D) None of these /$F|ﬁ' a Eﬁ's" STl

70. Electrolysis of an aqueous solution of copper
sulphate using copper electrodes gives

PR FAFET FOTANT S FAR
W%aﬁum%ﬁagam@
e &

(A) Copper at cathode and oxygen at anode.

HUE W HIT 3T ¥A1E T 3ifadismT

(B) Copper at anode and oxygen at cathode.

UAlE W 19T 3R Fos ) st

(C) Copper at cathode and anode dissolve to
give copper.

FUE W FR A W g F1w
Cr

(D) Hydrogen at cathode and oxygen at anode.
YT W gEEee IR WE w
Hierdroter

71. When a transistor is used as a switch, the
terminals that correspond to the ON/OFF
switch terminals are

STe gIoex &7 39T R¥aT & &9 fwar
Sr & af 9 <fiaa #ia ¥ ¥ S sifa-
3w Feag <ffaa & qaeT & 2
(A) collector and emitter
WAEH T 3cHAF
(B) collector and base
HUgH T 99
(C) emitter and base
389 T 99

(D) base and collector

99 T HaES

72. Which city is not a Tehsil of Gurgaon ?
HieT W AR IaNd HT TF dgieT g
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(A) Manesar

A

(B) Kosali
FIE

(C) Pataudi
qeiér

(D) Farrukhnagar
FEEAIR

73. The semiconductors are replacing electronic
tube because they are

T oIS <gT B g o W@
g Faife &
(A) Light in weight
golsh 8 atel § |
(B) Smaller in size
@Y HHR & §
(C) Longer in life and greater in ruggedness
S FrE T ST Asled § |
(D) All of these
T waft

74. Which type of fire extinguisher is to be used
on electrical equipment or installation under
fire ?
fdegd 3UaOT AT FAIAEHT W 0T
WA W FE WNE & IJoAaHs &
3G T TAIfRT ?

(A) Foam type
BIH THR
(B) Halon type
e ueR
(C) Gas cartridge, water filled type
N FfesT, ST T IHIR
(D) Stored pressure, water filled type
TR &, ST 9T I
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75. Which one of the following is a water borne
disease?

AT & Sor Jfaa Qor #l7 @ @
?

(A) Diabetes /AT
(B) Cholera /&=t
(C) Small Pox /g

(D) Malaria /AT

76. Safety fuse wire used in domestic electrical
appliances is made of metal of low

T degd 3UOT F TgEd qReT Fe
dN 38 U1 ¥ 7 giar & foeer
(A) Resistance
wfeRier A g |
(B) Melting point
AT FAEY |
(C) Specific gravity
fafRre gaca wa Y |

(D) Conductance
ATeAFHcd FHH @l |

77. Which one of the following statements is
false ?

fartifra & O a1 Fua TWT ¥ 2
(A) An ammeter is connected in series.
VAT €IS & 3T B ¢
(B) A voltmeter is connected across the load.

dlecHey I § 3T 81T ¢ |

(C) The resistance of a conductor decreases
with an increase in its temperature.

qeldh FT IO TS AT F
oA & WY "edr § |

(D) Greater is the length of a wire, higher will
be its resistance.

drR #1 e forden fgw  gef,
ghT Hia 87 3= ¥ g |
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78. Sonipat city is famous for its industry named

HANT R B 3eET & P gk &
?
(A) Cycle
gl
(B) Car
DR
(C) Cement
HAee
(D) Cotton fabrics

i e

79. K ‘ uravi is a type of which dialect ?

i,ﬁ’rﬁa—\craﬁrﬂmmaﬁﬁ%?
(A) Awadhi / 3/aeft

14

() Khadi Boli / @3t aYelt
©) Urdu / 3§
(D) Maithili / A2y

80. What were manufactured in oldest industries
of Gurgaon ?

E9a F Fe o 3@t & fraer
foaTor g3 2

A) car/ wr

(B) cycle / AT

(©) scooter / Thel

(D) Railway Engine / {o1d o7t

MASTER
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10.

1.
12,

13.

14.

15.
16.

17
18
19

20.

TH U0 H T HA | U Fuan Bt o
arvafiat & fore e T

FAF T T g B AR gE wva & A WiRe 3w qEe v 2 E

TR-0F F FW T A Teo FUA ST oF B QR A 59 16 956 3 T OMR 3o TF T FR A By s &)
e & S & B olten TE A @ o fee % sew gt X o B e qRde AR OMR 3cR T3 & W 755
aﬁﬁmmg%aﬂtsﬁmsﬂqmﬁaﬁraﬁ@%l OMR 3t 93 U9 T gohoe (IRaw) & difae 7. u-
A E ART) R o T Ay R orw T @ el @ oRdie ¥ 0w geee HX OMR 3o 999 qaer A
ART| T YR B & dfg BT gedTe OO RierEt W R A6 R e

8 ETH I OMR Il TF & T 3T Uef ol @t o 37|

TRA-GRETH AR OMR 3eck 99F & Bl o gs5 &) a7 af w1 3y o A1)
mfﬁu’raﬁwmmr-wmm%,mwmﬁrﬁzﬁmmhﬁﬁmmmﬂwfﬁwmmaﬁ B
mrgw%l‘zwﬁaaﬁﬁnﬁmﬁaﬁﬁhﬂ'&mmﬁmmm%maﬁaﬁﬁfﬁrmmgquﬁ?ﬁ -9,
S & sfder dgdew, Aderar oREw-TE, HUR w1, TEAE A F ¥ A v e Few R A A B g o
B W 3l Y qlemaen F s B e i & S
g@?ﬁ%ﬂ?aaﬁ%ﬁmﬁﬁ;sﬁﬁOMRm-mﬁm,ﬁa#.mé?em‘caﬂ-s'm&m

=]

wmmﬁ@am%mwﬁmwmﬁmmmfm%ﬁn@mm
m%m.s@rmaﬂ%#mwgﬁzaﬁammaﬁrm O HT HeATwd Al [T
R 8t 9ot 1 R o 9@ B W el wd @ oRoTHET Y s & T Searer

T - F HaS F1 IR Ao -3t 3w Gt gy F IS 7 s SURURT 9FF W, OMR
e 93 W AR A el o 39 3Rk sRa wue o s o e
qﬁm—wﬁqﬁﬁm@rmﬁmﬁmﬁmﬁwwama&mwmm%maﬁ%a?ﬁmﬂaﬁr%“l
FeAEE & A & I E F Y OMR 3cck-93& # el Y TR 1 3icTraea® et o ard 3K 7 & s@ AE|  OMR
3o v A 0 3l foee 3t ae & muTe 39 et & T wE |, aww, s, whe ave gery / aisesk i @7 s ar
Wmﬁw#s@aﬁ%wm%&ﬁ@sﬂaﬁwﬁﬁmﬁm-mmOMRsmWﬁuc—q*qs‘aﬁw,
T & R g o A & @ W et fr 3nafiar 3K OMR 3eeR TEE A & e % Ru s
Mﬁﬁﬁﬁaﬁﬁam%%am,mm,mmmﬁaﬁ.a?c,sﬁaﬁﬁa:mmﬁétﬁd?,ﬁﬂ,ﬂﬁ‘ﬂﬂ.
SR, YT 3T forar m%ﬁ%ﬁm@@m&aﬁﬁﬁaﬁmaamﬂﬁ‘mﬁqaaﬁﬁrsaﬁwm%m
$1 SR I FMHTOT eS| 3 AT & W Rl o rerelf Y oRemw  -gfer O waw et T SWCI| GRET FE F 3iex B
mﬁ*wuﬁ%%m@ﬁﬁém%ﬁmmmm%,wm%a’rsﬁﬁuﬁﬁmﬂvw
mm&f‘ﬁrmﬁm@rmﬁmﬁwﬁmmaﬁw#aﬁaﬁmﬁr@aﬁnﬁﬁmﬂaﬁwﬁm
M A S| OMR Il e W et & fov W5 , AIGe, w5, ¥he o’el Terd /g R & 9T Jvear B e
TN § & T T AT 1 OMR IecR 9 I @1 omean 3N 4% OMR 3eeR WE & HodieheT g AT S|
mﬁm#f'ﬁﬁwﬁm-mﬁmrﬁmmeﬁ$yﬁﬁw,ccwm,armﬂ%d?#ﬁﬂ\%a:ﬁamm
3YRPAY 3w, B Wi, AT AR SR F @ R AT F A e I AFT T TF AR TF et F w91
FE TET TIET 7 & Tl
qlEn-shen # aRade a1 odengier F Me & wRad F w@@er F B o 3wl & g W AR a8 R )
qﬂa’rwaymmr-wmmwﬁmﬁmmgumwmmmﬁ#ﬁmm|ys:raﬁam
U PIET & HAT IR TG F e o SR A i 9 A O rerelt B o #F vder A ey et &
St 3R gg 3rRIfaE AT & gy g
$9 OMR Sead-9aa &1 ofier il §, e wfer, 3mmer wfey va st ufd| o e 3reer 7 %1 OMR 3ceR 3@ &1 et
gt & el &Y 3erT-31eT HIe o HY| 3T T WA A W 3 TH.IR, Seak-a7F At 9ig 39 B R e
AR i G el ofer e AR G@RT ST Ak 3 & & Sl el S @Y S e gReew B o o
T El
Tcdeh 9T & TR dhfeus 3ok QU a0 & ot § Fad oF @8 &1 9AF T & el & [T OMR 3K 996 & ¥aef 39
U Aol P AT F I &N B T T WD 3ok @A &1 I§ IGH AT G@RT IIAY FT T dhael Aot AT F SFer-97
AT | el # S F e 9faer &1 gaer A8 weer ¥ AR fedr 3eR & T @ et @ mer T g & ar 39 3R &

Tehel Tl fadT SITQam)

& & m‘aﬂrﬁﬁﬂmﬁaﬁa?aﬁmﬁrmmmmﬁﬁqw@mt/ﬁem)#m@raﬁﬂﬁaﬁam?ﬁl
forell o 3B 1 OMR 3eeR W WIe o A fer 78T ¥ R FE OMR 3eeR o3 Tl W 18 et UReeTF 30 W
"FI" AN F UG HYT FEARN F 3 AN 30 W e g &

. 9% 3ea’- i Y ST FelFiiele ThiAd FETH ¥ A SN IR AT TN SRS W INIH SeaeIIF FAT & Fh B

. WAET HTaRTF AROT FEUEAEF Scae-a3F § #TT §) Scl-J9e & deold 7 At 780

. Sl F E Aen/Ae B ES FHT A R T H G M B QY AR N9 o F 30 A B Fer w0 Ear smar
3 Y IS AT S0 3R QY Icak T FedichsT FET &)

CORRECT METHOD / Wt s/t WRONG METHODS / 7T a1

0] _GIC, olofclelol: lclololloloMolelele

Al Py A STF AT T UToT AGH FAA & AT IHATHT T el § Al HAWT WHEAAR 365 [4%€ HILAET
3N o HARed 3wy F & T el THETH QA s dRT PR o AT ¥ 36 Reg HRIRE SRR & S o o
forar ST Gear ¥

:
i
i
:
§
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